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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Write the names of four methods of Educational 

Research and describe any three of them.  

‘kSf{kd vuqlU/kku dh pkj fof/k;ksa ds uke fyf[k, rFkk muesa 

ls fdUgha rhu dk o.kZu dhft,A  

2. Write a note on non-probability sampling methods and 

describe the sampling methods for qualitative 

researches.  

vlEHkkO;rk izfrn’kZu fof/k;ksa ij ,d fVIi.kh fyf[k, rFkk 

xq.kkRed ‘kks/kksa esa iz;qDr izfrp;u fof/k;ksa dk o.kZu dhft,A 

3. Describe the various scales of Measurement.  

ekiu ds fofHkUu iSekuksa dk o.kZu dhft,A  

4. Compute the values of mean, median, mode, standard 

deviation, standard error of mean, standard error of 

median, standard error of standard deviation and 

skewness for the following distribution : 

Class Interval  Frequency 

25—27 1 

22—24 2 

19—21 3 

16—18 4 

13—15 5 

10—12 4 

7—9 3 

4—6 2 

1—3 1 
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fuEufyf[kr forj.k ls ek/;eku] ekf/;dk] cgqyd] izeki 

fopyu] ek/; dh ekud =qfV;k¡] e/;kad dh ekud =qfV;k¡ 

izeki fopyu dh ekud =qfV;k¡] ,oa fo”kerk dh x.kuk 

dhft, % 

oxZ vUrjky ckjEckjrk 

25—27 1 

22—24 2 

19—21 3 

16—18 4 

13—15 5 

10—12 4 

7—9 3 

4—6 2 

1—3 1 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Write eight characteristics of Educational Research.  

‘kSf{kd vuqlU/kku dh vkB fo’ks”krkvksa dks fyf[k,A  
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2. Write a note on ‗Education as a discipline‘.  

^f’k{kk ,d ‘kkL= ds :i esa* ij ,d fVIi.kh fyf[k,A  

3. Write the names of the eight types of hypotheses.  

ifjdYiukvksa ds vkB izdkjksa ds ukeksa dks fyf[k,A  

4. Describe four sources of review of related literature.  

lEcfU/kr lkfgR; dh leh{kk ds pkj lk/kuksa dk o.kZu 

dhft,A  

5. Compute the values of 
2 0

P  and 
8 0

P  for the following 

distribution : 

Class Interval  Frequency 

19—21 1 

16—18 3 

13—15 4 

10—12 5 

7—9 4 

4—6 2 

1—3 1 

fuEufyf[kr forj.k ds fy, 
2 0

P  rFkk 
8 0

P  ds ekuksa dh 

x.kuk dhft, % 

oxZ vUrjky ckjEckjrk 

19—21 1 

16—18 3 

13—15 4 

10—12 5 

7—9 4 

4—6 2 

1—3 1 
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6. Calculate the value of skewness for mean = 10.5, 

median = 10.0 and standard deviation = 5. 

e/;eku = 10.5] ekf/;dk = 10.0 rFkk ekud fopyu = 5 

ds fy, fo”kerk ds eku dh x.kuk dhft,A  

7. Calculate the value of kurtosis for Q = 24, 
1 0

P 1 0  

and 
9 0

P 9 0 .   

Q = 24, 
1 0

P 1 0  rFkk 
9 0

P 9 0  ds fy, dqdqnrk ds 

eku dh x.kuk dhft,A  

8. Compute the value of standard deviation for the 

following data :  

Score  Frequency  

1 2 

2 6 

3 12 

4 10 

5 2 

fuEufyf[kr forj.k gsrq ekud fopyu ds eku dh x.kuk 

dhft, % 

vad ckjEckjrk  

1 2 

2 6 

3 12 

4 10 

5 2 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False : 

lR; vFkok vlR; fyf[k, % 

1. Subjectivity is to be abandoned for doing research 

work.    (True/False)  

vPNs ‘kks/k dk;Z dks djus ds fy, vkRefu”Brk dk ifjR;kx 

djuk gksrk gSA   ¼lR;@vlR;½ 

2. The conditions to use parametric statistics are more 

rigorus as compared to the condition to use the non-

parametric statistics.  (True/False)    

izkpfyd lkaf[;dh dk mi;ksx djus dh ‘krs± vizkpfyd 

lkaf[;dh dk mi;ksx djus dh ‘krks± ls vf/kd l[r gksrh 

gSaA    ¼lR;@vlR;½ 

3. The most refined scale is nominal scale. (True/False) 

ukfer iSekuk lokZf/kd ifjekftZr iSekuk gSA ¼lR;@vlR;½ 
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4. Values of mean and standard deviation are used in 

computing the value of standard error of mean.  

     (True/False) 

e/;eku dh ekud =qfV dh x.kuk djus ds fy, e/;eku 

rFkk ekud fopyu ds ekuksa dk mi;ksx fd;k tkrk gSA  

    ¼lR;@vlR;½ 

5. The value of a coefficient of correlation lies between 

+1 to –1.   (True/False) 

,d lglEcU/k xq.kkad dk eku +1 ls –1 ds e/; gksrk gSA  

    ¼lR;@vlR;½ 

Choose the correct answer : 

lgh mŸkj pqfu, %  

6. For the values 
1 0

P  10.20, 
5 0

P   50.02 and
 

9 0
P   89.80 the value of skewness is :   

(a) 0.20 

(b) 0.02 

(c) 0.80 

(d) None of the above  

1 0
P  10.20, 

5 0
P   50.02 rFkk 

9 0
P  89.80 ds fy, 

fo”kerk dk eku gS % 

¼v½ 0-20 

¼c½ 0-02 

¼l½ 0-80 

¼n½ mi;qZDr eas ls dksbZ ugha  
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7. For the values of mean = 5.00 and median = 6.00, the 

value of mode is :  

(a) 11.00 

(b) 8.00 

(c) 3.00 

(d) None of the above  

e/;eku = 5.00 rFkk ekf/;dk = 6.00 ds fy, cgqykad dk 

eku gS % 

¼v½ 11-00 

¼c½ 8-00 

¼l½ 3-00 

¼n½ mi;qZDr eas ls dksbZ ugha  

8. Which one of the following is not a method of 

estimating reliability ? 

(a) Test-retest reliability  

(b) Split-half reliability  

(c) Concurrent reliability  

(d) Rational equivalence reliability  

fuEufyf[kr esa ls dkSu ,d fo’oluh;rk Kkr djus dh fof/k 

ugha gS \ 

¼v½ ijh{k.k&iquiZjh{k.k fo’oluh;rk  

¼c½ v)Z&foPNsn fo’oluh;rk  

¼l½ leorhZ fo’oluh;rk  

¼n½ rkfdZd lerqY;rk fo’oluh;rk  
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9. The value of skewness of a normal probability curve  

is :    

(a) 0.00 

(b) 0.10 

(c) 0.20 

(d) 0.30 

,d lkekU; lEHkkO;rk oØ dh fo”kerk dk eku gksrk gS % 

¼v½ 0-00 

¼c½ 0-10 

¼l½ 0-20 

¼n½ 0-30 

10. The value of standard error of median is .............. the 

value of standard error of mean.  

(a) Less than  

(b) Greater than  

(c) Equal to  

(d) Double  

ekf/;dk dh ekud =qfV e/;eku dh ekud =qfV 
--------------------

A 

¼v½ ls de gksrh gSA  

¼c½ ls cM+h gksrh gSA  

¼l½ ds cjkcj gksrh gSA  

¼n½ ls nqxquh gksrh gSA  

 

S-41  1,850




